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RPF  MOCK TEST – 3 (SOLUTION)

51. (B) Single equivalent discount given by

first shopkeeper = 
15 10

15 10 – %
100

 
 

 

 = 23.50%
Single equivalent discount given by

second shopkeeper = 
9 16

9 16 – %
100

 
 

 

= 23.56%
Hence 2nd will be more benificial.

52. (C)
1 1

1

m d

w


 = 

2 2

2

m d

w



20 15

9000


 = 

30

13500

x 
 × 

3

2

 x = 10 men

53. (A) 15  = 3.88 (Given)

Now, 
5

3
 = 

5 3

3 3




 = 

15

3

= 
3.88

3
 = 1.293

54. (B) In 1 sec rotations = 7 × 2 radian

Now, required time = 
1

14
 × 55

= 
1

22
14

7


 × 55 = 1.25 sec.

55. (C) 18,000

+5%
M F

900 300

×100

+5% + 3%

 No. of females = 10,000
No. of males = 8,000
Required ratio = 4 : 5

56. (A) Let the cost price of article be

1000

560

– 44% – 30

700

– 140

 Required loss = 
140

700
 × 100 = 20%

57. (B) Ratio of speeds of
A : B : C
6 : 3 : 1

Ratio of time of
A : B : C
1 : 2 : 6

×19 ×19

38 min 1 hr 54 min
58. (D) a + b + c = 18 × 3 = 54

and b + c + d = 16 × 3 = 48
 a + b + c – b – c – d
= 54 – 48 = 6
 a – d = 6
 a – 19 = 6
 a = 25

59. (D) Required no. of students
 L.C.M of 6, 8, 12 and 16
= 96

60. (A) 1 cow : 1 calf
Old cost  4000 : 2800

+20% +30%

New Cost  4800 3640
ATQ,
Price of 1 dozen cows = 4800 × 12

    = 57600
Price of 2 dozen calves = 3640 × 24

= 87360
Total cost = 57600 + 87360 = ` 144960

61. (D) 24010000  = 4900

again, 4900  = 70

 4 24010000  = 70

62. (A) Avg. Height = 
6 1.15 8 1.10 6 1.12

20

    

= 
6.9 8.8 6.72

20

 
 = 

22.42

20

    = 1 m 12.1 cm

63. (A)   
1

x y  = 
1

x
 + 

1

y  = 
y x

xy



 (x + y)2 = xy
 x2 + 2xy + y2 = xy
 x2 + xy + y2 = 0
 x3 – y3 = (x – y)(x2 + xy + y2) = 0

64. (A) Area of kite = Area of square + Area of
equilateral triangle

= 
1

2
(diagonal)2 + 

3

4
 × (side)2

= 
1

2
 × 32 × 32 + 

3

4
 × 8 × 8



Ph: 09555108888,  09555208888 2

2007, OUTRAM LINES, 1ST FLOOR, OPPOSITE MUKHERJEE NAGAR POLICE STATION, DELHI-110009

= 512 + 16 × 1.732
= 512 + 27.712 = 539.712 cm2

65. (D) l + b + h = 24 [given]
l2 + b2 + h2 = 225 [given]
 (l + b + h)2 = l2 + b2 + h2 + 2(lb + bh + hl)
 (24)2 = 225 + 2(lb + bh + hl)
 2(lb + bh + hl) = 576 – 225
= 351 sq. cm.

66. (B) (64)x+1 = 
64

4x

 (43)x+1 × 4x = 64
 43x+3+x = 43

 44x+3 = 43

 4x + 3 = 3
 x = 0

67. (D) Let the distance of total journey = LCM
of (8, 6) = 24 units


3

8
 of the journey = 

3

8
 × 24 = 9 units

and, 
5

6
 of the journey = 

5

6
 × 24

     = 20 units
i.e. it covered 20 – 9 = 11 units of
distance in 4.30 p.m. to 11 a.m.

= 
1

5
2

 hours = 
11

2
 hours

 Speed of person = 11
2

11
 = 2 km/hr


3

8
 of the journey will be covered in

= 
9

2
 = 

1
4

2
 hours

Starting time = 11 a.m – 
1

4
2

 hrs.= 6.30 a.m

68. (D) Expression

= 156.25  + 0.0081  – 0.0361

= 12.5 + 0.09 + 0.19 = 12.78
69. (D) 5 A 7

3 3 5
8 B 2
 A  1, 2, 3, 4, 5 &
B  5, 6, 7, 8, 9
8B2 is exactly divisible by 3.
 8 + B + 2 = multiple of 3
 B = 5 or 8  A = 1 or 4

70. (C) Rate = 
1

12 %
2

 = 
1

8

Amount Instalment

8×9

64

9 × 9

81

136
×50 ×50

`6800 ` 4050

+

71. (B) Total weight of section A = 42 × 25
                                              = 1050 kg

Total weight of group B = 28 × 40 = 1120 kg
Total weight of whole class = 2170 kg
Average weight of whole class

= 
2170

70
 = 31 kg

72. (D) No. of Pen

4

6

Buy

Sell

or 12

or 12

15

25

45

50

Rupees

Profit No. of Pens
5 12
×5 ×5

25 60

Profit percentage = 
50 – 45

45
 × 100

= 
5

45
 × 100 = 

1

9
 × 100 = 

1
11 %

9

73. (B) 4x – 3y = 13
Cubing both sides
64x3 – 27y3 – 3 × 4x × 3y (4x – 3y) = (13)3

 64x3 – 27y3 – 36 (14)(13) = 2197
= 64x3 – 27y3 = 2197 + 6552
 64x3 – 27y3 = 8749

74. (B)
3

8
× 

20

9
+15 ÷ 

5

3
–

5

6

=
5

6
 + 9 – 

5

6
 = 9

75.   (A) x

x 40m

60m

Total area of park = 60 × 40 = 2400 m2

and area of lawn = 2109 m2 (given)
area of the cross roads = 2400 – 2109
= 291 m2

 x(60 + 40 – x) = 291
 x2 – 100x + 291 = 0
 (x – 97)(x – 3) = 0
 x = 3 or 97
 x = 3 [  x = 97 is not possible]

76. (B) Let actual sum = ` x

 22.22% = 
2

9

 Remaining amount = 
7

9
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37.5% = 
3

8
   Remaining amount = 

5

8

ATQ,

x × 
7

9
× 

5

8
= 315

 x = ` 648

Now, 75% of x = 
75

100
× 648 = ` 486

77. (A) (13)54 × (13)–51 ÷ (13)2

= (13)54 × (13)–53

= 131 = 13

   78. (D)

3

7 73 59 8 289

729

   

=
7 73 59 8 17

9

   

=
7 73 59 5

9

  

=
7 73 8

9

 

=
7 9

9


   

4

9
=

2

3

79. (C) ATQ,

9.6

(34 )x  = 
16

60

  34 + x = 36
  x = 2

80. (C) ATQ,

 4 – 13 , 10 – 7 , 7 – 2 , 13 – 10

= 16 – 13, 10 – 7, 7 – 4, 13 – 10

Since, the gap between two numbers is
same. So, the number whose multiplica-
tion is smallest, will be largest number.

81. (A) Let the number of balls be 3x, 7x and 11x.
ATQ,
7x – 3x =4x = multiple of 6 and 8
LCM of (6,8) = 24

 we can say, 4x = 24

x = 6

Hence, the number of balls = 3x + 7x + 11x
=  21x = 21 × 6 = 126

82. (B) 348 ÷ 29 × 15 + 156  = (x)³ + 120

180 + 156 – 120 = x³

 x³ = 216

 x = 6

83. (B) Required number of donors

= 150 × 
1008

3600
 × 

100

100
 = 42

84. (A) Required number of man

= 150 
72 100 1296 100

360 100 3600 100

 
    

= 30 + 54 = 84

85. (C) Required percentage = 
57.6

100
360

  = 16

86. (A) As, Plough is used by former.

Similalry, Brush is used by painter.

87. (A) As,

A E G        G K M

+6

Similarly,

M Q S        S W Y

+6

88. (D) As,

17                               71
On interchanging the digit

Similarly,

35                               53
On interchanging the digit

89. (C) As, 
12

12 18
2

 

Similarly, 
80

80
2

120 

90. (B) As, A G R E E F G P I B            
+1
+2
–2
+2
+1

Similarly, R U L E S        T G J W S    
+1
+2
–2
+2
+1

91. (D) Except Magenetic field, all other are

the SI units.

92. (D) B G F F D H                

+5 – 1 –2 + 4

B A E            C D E    

–1   +4 +1 +2

93. (C) Except 4099, all others are the perfect

cube.

94. (D) Except G, all others are vowel.
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95. (C) E    5    T

5 +  5 +20 = 30

O    9    S

15 + 9 +18 = 42

U    3    A

21 + 3 +1 = (Perfect square)25 

I    7    M

9 + 7 + 13 = 29

96. (C) 4 + 5 = 9, 9 + 5 = 14, 14 + 9 = 23
23 + 37 = 60, 60 + 37 = 97

97. (B) As, 8 + 3 + 5 – (4 + 2) = 10
and, 9 + 7 + 5 – (1 + 8) = 12
Similarly,
5 + 4 + 5  – ( 2 + 3) = 9

98. (C)

99. (B)
Amit Lalit Dilip

FahimBhuwanChetan

East

West
So, Required pair is Bhuwan and Fahim

100. (B) West/if'pe

Noth/mÙkjEast/iwoZ

South/nf{k.k

So, Hour Hand will be in North-west
direction

101. (D) From Figure

  can't be made from the

question figure.
102. (D)

103. (D)

104. (B) 14 22 33 47 64, , , , , 84

+8    +11  +14  +17 +20 

105. (C)

B  C  F  E  J  G  N  I  R  K

+2        +2      +2       +2

+4       +4       +4      +4

106. (A) 1   3   9   21   41

1 +1  
2

2 +2 3 +3   4 +4
2 2 2

107. (D) –

++

Anil

S

Cousin

Brother

Mother
F
a
th

er

Grand
father

108. (B)
Outdoor games
ckgj [ksys tkus okys [ksy

Football
iQqV ckWy

Volleyball
iQqV ckWy

Carrom

dSjse

109. (A) accab/accab/accab
110. (B)
111. (C)
112. (A) 4 × 5 + 9 – 3  4 = 15

After changing the sings,
4 + 5 × 9  3 – 4 = 15
 4 + 15 – 4 = 15
 15 = 15

113. (B) 8 × 9 + 2 = 74
After changing the signs and numbers,,
2 + 9 × 8 = 74
 74 = 74

114. (D)
115. (B)
116. (C) 100m

/eh-

10
0m

/eh-

10
0m

/eh- 100m
/eh-

A

So, Now he is at the starting point (A)
117. (D)
118. (A) Let the number of children and adults

is 3x and 4x respectively
Then, literate popoulation

= 
3 40

100

x
 + 

75 4

100

 x

= 
6

5

x
+ 

4

3

x
 = 

38

15

x

Required % = 
38

15

x
 × 

1

7x
×100

                     = 36.19%
119. (B) Total number of triangles = 7

120. (A) As, 
2 4

2


 12

and, 
8 2

2


 41

Similrly, 
2 6

2


 13
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Answer key
1. (C)
2. (C)
3. (D)
4. (A)
5. (C)
6. (C)
7. (C)
8. (A)
9. (B)
10. (B)
11. (B)
12. (C)
13. (C)
14. (C)
15. (A)

31. (B)
32. (A)
33. (A)
34. (A)
35. (A)
36. (B)
37. (A)
38. (A)
39. (A)
40. (C)
41. (B)
42. (B)
43. (C)
44. (D)
45. (A)

46. (B)
47. (C)
48. (D)
49. (D)
50. (D)
51. (B)
52. (C)
53. (A)
54. (B)
55. (C)
56. (A)
57. (B)
58. (D)
59. (D)
60. (A)

16. (B)
17. (A)
18. (A)
19. (B)
20. (B)
21. (C)
22. (A)
23. (C)
24. (A)
25. (D)
26. (A)
27. (C)
28. (D)
29. (C)
30. (D)

61. (D)
62. (A)
63. (A)
64. (A)
65. (D)
66. (B)
67. (D)
68. (D)
69. (D)
70. (C)
71. (B)
72. (D)
73. (B)
74. (B)
75.   (A)

76. (B)
77. (A)
78. (D)
79. (C)
80. (C)
81. (A)
82. (B)
83. (B)
84. (A)
85. (C)
86. (A)
87. (A)
88. (D)
89. (C)
90. (B)

91. (D)
92. (D)
93. (C)
94. (D)
95. (C)
96. (C)
97. (B)
98. (C)
99. (B)
100.(B)
101.(D)
102.(D)
103.(D)
104.(B)
105.(C)

106.(A)
107.(D)
108.(B)
109.(A)
110.(B)
111.(C)
112.(A)
113.(B)
114.(D)
115.(B)
116.(C)
117.(D)
118.(A)
119.(B)
120.(A)

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note:- If your opinion differs regarding any answer, please message the mock  test
and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the

doubts, also share your suggestions and experience of Sunday Mock


